
Wed, Dec 13, 2017

Pick up: Dihybrid Practice
Today you will:
• Check key to Punnett Squares pg 6‐7 
• Law of Independent Assortment
• Dihybrid Punnett Squares 

Homework/Planner:         
Dihybrid Practice, Study what we’ve covered so far!

PHONES & EAR BUDS away Please!
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C. Cross a HOMO ROUND w/ a HeTErO ROUND.

RR x Rr

Genotypic 
Ratio = 2:2
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D. CROSS 2 heterOzygous round seed pea plants:

rr =  1 homozygous 
wrinkled = 25%

Rr = 2 Heterozygous 
round seed = 50%

PHenotypic
Ratio = 
OVERALL= 3:1



B. 50% ROUND 
50% wrinkled 2:2 ROUND to wrinkled 



The Law of Independent 
Assortment

Textbook pg 186

 WHAT is it…?
 Write it on ISN 



LAW of INDEPENDENT ASSORTMENT
1. The inheritance of one trait is not influenced 

by the other = Genes do not have to always 
stay together! 
• Mom has green eyes & brown hair
• Dad has blue eyes & blonde hair

• YOU could be green & blonde
• OR you could be blue & brown

Mendel’s Laws



Dihybrid Cross

 Cross involving TWO traits
› Ex: AABB  x  aabb

 Shows how the Law of Independent 
Assortment works….

 Animation & Video shows Law of 
Independent Assortment AND a DiHybrid
Cross

Amoeba Sisters Dihybrid 
Punnett Squares
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TtPp x TtPp
Genotype  Phenotype

TTPP=1

TTPp=2
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TtPp=4

TTpp=1
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Tall, Purple = 9

Tall. White = 3

Short, Purple= 3

Short, white = 1
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Crossing 2 parents who 
are HeTErOzygous for 2 

traits will always give you a 
Phenotype ratio of 9:3:3:1

DIHybrid Cross = 2 traits



Extra Practice

T T P p x T t P P

 Work this out BEFORE looking at next slide 
for the answer key.
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T T P p x T t P P
Genotype   Phenotype

TTPP=4
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Tall, Purple = 16:0
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Extra Practice

Ho Tall, Ho 
Purp. 25%

Ho Tall, Het 
Purp 25%

Het Tall, Ho 
Purp 25%

Het Tall, Het 
Purp 25%


